; DUNCAN MODEL EA 1229-2

BODY PARTS

REF PART

1. KC 089 EA 1220 STAND W/FEET

2. KE 60 BTAND FEET

3. KP 304 1220 BASE PLATE

4, KC 008 1229 FIBER BOTTOM

S. KB 004 1228 GROOVED BRICK

e KB 024 1229 PEEPHOLE BRICK

1. KB 044 1229 HALF BRICK

8. KB 014 1220 TERMINAL BRICX

8. KB 054 1220 KILN SITTER BRICK

10. KC 087 EA 1229 LOWER CASE W/CLAMPS

", P J14 1/74* THICK FIBER GASKET (1229)

12. KC 088 EA 1229 UPPER CASE W/CLAMPS

13 KA 114 1229 HALF SHELF

14, KC 050 1229 FIBER UOD W/BAND

18, XC Z20 1228 FIGHT HINGE ASSEMBLY

18, KC 221 1220 LEFT HINGE ASSEMEBLY

17. KE 045 CASE CLAMP

18 KC 222 HINGE PVOT KIT

.. KE 341 1/8° STAROOFF

0. KA 032 PEEPHOLE PLUG-V/4*

21 P o24 COLLAR HEAT SHIELD

2. KP 029 1229 HEAT SHIELD

2. XE 301 #8 X 1/2° SHEET METAL SCREW

24. KE Q08 HANDLE

25. KE 105 1220 UD CHAIN

28. KC 339 IO MOUNTING PLATE KIT

27. KE 304 £8-32 X 3/4' MACHINE SCREW

28. KE 302 #8 X 1° SHEET METAL SCREW.

28 KC 088 EA 1229 CONTROL PANEL SHELL

. M 202 PAL NUT

31 KM 319 SWITCH KNOB-EA KILNS

32 KM 208 EA IQLN-SITTER W/TIMER (240V)

33 KE 303 #6 X 1/2° SHEET METAL SCREW

M. KE 35 1229 TOP OR BOTTOM BANK ELEMENT (240V)
oR .
XE 226 1228 MIDOLE BANK ELEMENT (240V)

a5, KE 110 UD LATCH - .

26. KM 300 INFINITE SWITCH W/PAL NUT (240V)

ar. KM 362 CAPACITOR ASSM. ¢#2

3. KM 324 POWER RELAY 40V)

8. KE 006 2 POLE TERMINAL STRIP

Q. XM 381 3 POSITION SWITCH

41, KM 360 CONTROL RELAY 240V}

£2. KM 283 FIBERGLASS SLEEVING

43. KM 343 CORD STRAIN REUEF

44, KM 326 4800 REPEAT CYCLE TIMER {240V)

4S5, KM 325 4300 FIXED INTERVAL TIMER (240V)

4E. KM 333 POWER SUPPLY CORD

47. KC 308 STANDARD BUSS BAR ASSEMBLY

48, KC 18 U-TERMINAL ASSEMBLY

4. KE 314 #6-22 X 1/ MACHINE SCREW

0. KE 322 #8 STAR WASHER

S1. KE 333 #6-22 HEX NUT

. KE 060 INSULATOR

53 KE 207 #8-32 X 1-1/4° MACHINE SCREW

54, KE 328 #8-32 HEX NUT W/WASHER

55, KE 311 #10-32 X /8" MACHINE SCREW

55, KE 321 #10 STAR WASHER

s7. KE 332 #10-22 HEX NUT

58, KT 138 & CONNECTING WIRE, 12 GAUGE

56, KT 183 EA PULOT UGHT

60. KC 187 & CONNECTING WIRE, 16 GAUGE

1. KC 181 12, 9, 9 WIRE COMBO, 16 GAUGE

. KC 182 22, 8, WIRE COMBO, 18 GAUGE

83. KC 183 €, 12, 12, 8, MIRE COMBO, 18 GAUGE

64, KC 184 22, 4, WIRE COMBO, 18 GAUGE

85, KC 188 25° CONNECTING WIRE, 18 GAUGE

86, XC 186 22° CONNECTING WIRE, 18 GAUGE

&7, KC 162 & CONNECTING WIRE, 12 GAUGE

8s. XC 176 16° CONNECTING WIRE, 12 GAUGE

&, KA 031 UD VENT PLUG

DUNCAN CERAMICS
P.O. BOX 7608
FRESNO, CA. 83747

3 —



